A SQ\U\"’;ON App/oa\c"\ Bl VP"OL- 222 (e)

“First, nete: any periodic signa with peicd

o

Xp (+) /&Z x (£-RT)

»‘rw\\ev-e ’rec{ (‘E 'L)- UL(QS u(‘b"')



,’,,‘Cons\'u\‘)r Q?QH'ov\\"- S)‘ghﬁ‘ %p (£ as ‘."P"‘* @
Yo LTI gystem widh m\pu\se response  h (%)

%, ()— hO}—> 4,

/’(k) Wl“ 0\‘30 l’-Q PQV\ gé‘g W\'\"\ PQ’\'OJ T

$\mp\Q To shavw wsing su\pi'rpcsx*\cr\/whs‘\'nM‘)ne
~ properly of convoluticn and Time-ravavian ¢

oo
y,}*)='><p(k>~ykm 12 x(t-),_T)},y}\(t) ,
Z 7((’:—&1‘)*)\(4:) |

| 4&--04

'a«(t-*")
R““ Adct) m(f)*k(t)



) SQ, Yo £ind the oudpud e (), you en\y
)\a‘o? '}6 Cfaﬁ“ﬂl\’f‘ ohe Pecig& 04- 'x), (‘t) |
writh KD +¢ form ”(k)‘ X (€) ®h (£)

Awd  Yhen repeat ﬁ({-\ every T secs

(on')’\rwur\g €X “‘“ﬂh gu\yposQ "I\p('t\ e

| )"Qt-so&\c ‘*ra\w\ o;‘ rec"l’au\qm\«v /Pu\)s&s 0.0,5

Vo put k LTI Sys‘iwv\ with 1mpulse response
h 6D o

o A t
wa .(“"‘ wst (“maht&hu.\\ +fcoux7|e (Qh\eo\u"'\un rese 1
Tt Find comvaledfon belew with ne work

Ag(t)




) dewn

| | |  Concave
AL 2tezy et TGS

Yp 16> | | @

4 2 2 - o ] 2 3 Qq s ¢

-t

*Now, $V~PP65Q \'\):u"' was instead

OETEET SEP ) :%P(’c)—xp(t-D
where 2o lt) 1= plotted on pg. 2




. Ihvo\(\vxg LTI 4? ({) ’XP('ES* A(£>

%p(lc) (’Xplk§ ~ (‘E-\))*‘\(‘E) @
'x,,uw;\(u — ~p - DERNIN -




“The input for Prob. 2.22 (63 was % (¢+%)
Z (&)= 'x,,('t'*"‘)* A(t) (e
A;P('k-\-"‘)

:)'us’f Toke ancwer (y (£S af ’>°H°"" F
Poge s and shiFt Yo |ty ,"I

~Ths w\w\e Problem wes colyed witheut

hool\nt L 2% Llu a Convolubicn =S hoet vat her
by U\S\hg 3 FFMM\ con\lc\u"'\m\ resu“‘
Cand Tnvelking concents of hincariyy awd
Yime- ;rw aviance


mikedz
Text Box




